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GROUP —A

Answer any five questions : - 2x$
(a) What is monopoly power ?

(b)) What do youmean by product differentiation
under monopolistic competition ? i

() What is dead weight loss ?
(d) What is quasi-rent?
(¢) Whatis productioﬁ externality ?

() Define conjectural variation in Cournot
model of oligopoly.

(g) Define Nash Equilibrium of firms in the
determination of output. '

(h) What is collusive oligopoly ?
GROUP — B
Answer any three questions . 5%3

Under what conditions is price discrimination
possible and profitable ?
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_Explain why the monopolist determines its output

at a level where price elasticity of demand is

greater than one.

Explain why the firms under monopolistic
competition can not earn supernormal profit in
the long run.

Explain monopolistic and monopsonistic
exploitation of labour.

Show, using Prisoner's dilema, how Cartel breaks .
down in collusive oliogopoly.

Examine the effect of unit tax on price and
output of a firm under monopoly.

GROUP - C

Answer any two questions 10 x2

Distinguish between perceived demand curve and

proportional demand curve under monopolistic

competition. Explain the conditions of long run

equilibrium of firm under such amarket. 4+6
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9. Discuss the Stackelberg model of oligopoly. Do
you think that this model is an improvement
over Cournot model 7 8+2

10. What is economic rent ? Explain the relationship
between rent and elasticity of supply of a factor
of production. , 3+7

* 11. Define Pareto optimality. State the conditions
of Pareto optimality. Show that perfect
competition is not sufficient for Pareto
optimality. 2+4+4

{ SECOND HALF]

( Macroeconomics -11)

[ Marks : 45 ]
GROUP — A
1. Answer any five questions : 2x5

(@) What is classical dichotomy ?
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(b) Define the crowding-out effect.

(c) Distinguish between demand-pull and -
cost-push inflation.

(d) What are the phases of business cycle;?

(e) If output capital ratio is 0-2 and propensity
to save is 40%, find out the growth rate of
the economy.

(/) What is stagflation ?

(g) What do you mean by mild inflation and
hyper inflation ?

(h) What is Laffer curve ?

'GROUP —B

Answer any three questions 3 %3

2. Briefly explain the acceleration principle. -

3. Explain the Knife-edge problem in Harrod-Domar
growth model.

4. Explain the concept of Real Business cycle,
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5, Btiefly explain the Rational Expectation

hypothesis.

6. Determine the equilibrium in simple Keynesian
model.

7. What is the Keynesian V's. Monetarist debate ?

GROUP -C
Answer any two questions fOx2.
8. Make a distinction between Keynesian and e

classical model.

9. Briefly explain the Solow model of technological
progress.

10. Explain the theoretical justification for the
short-run and long-run Phillips curve. Why is
long-run Phillips curve usually steeper than the
short-run Phillips curve 7

11. Using1S-LM model show the effect of (a) change
in tax rate and (b) increase in money supply on .
income and rate of interest.
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